|5 onsense MRSV RIRSEXIES

=53R4 Module Structural Design
o Easy to install and operate
(LN Skl Customization



Bl 5 (X BE K7 435 1F/Indication of Model Numbers & Features

O JciE il A 55 CHE Indication of Model Numbers

L RF) AT R b, ATHER SR,  *This is a custom series. Please contact us when ordering.

DRS085 - 060 - 100 - SVA-SVB

ABIAESS CGZZeS)  BEMAESS (VM) fied A% JE5pe S At
Axis A Axis B Turning Radius Motor type
060 060 AT il ST: Jiefhiz
085 085 Customization Stepping motor
130 130 SV: il kG
200 200 AC servo motor

O jicid = A58 S Indication of Model Numbers

*BERF AT BYE fh, RTHEREEEHFEIRM .  *This is a custom series. Please contact us when ordering.

DRT130 - 130 - 200 - SVA-SVB

ABIHESE (GZZ088)  BEBHESE(SMzhEEE) iR R JESpEc Rt
Axis A Axis B Plate Length Motor type
060 060 MR il ST: HBiEHiE
085 085 Customization Stepping motor
130 130 SV: A& Al il i

200 200 AC servo motor




DRS - Hi{ff 28 Eil4ME R ~f [E/Technical Data & Dimensions

DRS085-060-SV/ST Aifi/A Axis Biifi/B Axis
TU5E Model DTNO060-05 DTNO085-05
Fasin v Max.Torque 5Nm
PR Max.Load Torque 3Kg*
e R Rotation Angle 360° +180°
e Rotation Accuracy <30
ARG Repeatability <10
K TEA% Turning Radius 82mm( A 3E #/Customizable)
VAT Parallelism of rotating table +0.02mm
JEHE ] L Concentricity of rotating table +0.02mm
MR RS Amplitude of Table Rotation +0.005mm
PN Ehd Max.Speed 200r/min
PRt LA Degree of Protection IP40
HELE Motor 100W Sevor Motor/42 Stepper Motor 400W Sevor Motor/57 Stepper Motor

* PR BT RS 2B0H . Max. load torque refer to the tuming radius.
* ARNTIEGAEITGS B3, RIS RRGE, B ASATE, EARRGT IR, SEAA .
* Al specifications, dimensions and design characteristics shown in this catalogue are subject to change without notice.

HME R ST [EIDimensions

Hi{Zmm / All dimensions in mm unless specified.
ST Ry a5 3 (it B 32 V4B ST Please provide motor flange size when ordering.

Affi: DINGO Hizjeiira )
ACLOOVRRTAS A P.C.D. 045 6-03. 57, B6YLERL5  4-goyEe,

107

165

45.5
_|_|—

[
I
1

133
r%
/
175.5
OFI_I |_I|:|'|.|O
0 [e
Q

84
100
125

| Bii: DINS5 hZiEHEL
ACAOOW IR BR57 25 7 FAL 100

82.5 79 125 986. 5




DRS - $4t7 28B4 ME R~ [E]/Technical Data & Dimensions

DRS085-085-SV/ST Aifi/A Axis Biifi/B Axis
TU5E Model DTN085-05 DTNO085-05
Fasin v Max.Torque 20Nm
PR Max.Load Torque 10Kg*
e R Rotation Angle 360° +180°
e Rotation Accuracy <30
ARG Repeatability <10
K TEA% Turning Radius 86mm( A 5E #/Customizable)
VAT Parallelism of rotating table +0.02mm
JEHE ] L Concentricity of rotating table +0.02mm
MR RS Amplitude of Table Rotation +0.005mm
PN Ehd Max.Speed 200r/min
PRt LA Degree of Protection IP40
HELE Motor 400W Sevor Motor/57 Stepper Motor 400W Sevor Motor/57 Stepper Motor

* PR BT RS 2B0H . Max. load torque refer to the tuming radius.
* ARNTIEGAEITGS B3, FRPTRZIARI R, S ARG, BRI DR, SEAA .
* Al specifications, dimensions and design characteristics shown in this catalogue are subject to change without notice.

HME R ST [EIDimensions

Hi{Zmm / All dimensions in mm unless specified.
ST Ry a5 3 (it B 32 V4B ST Please provide motor flange size when ordering.

AB: DINSS TR

A HBEE 7 6.5 e o) B 6-04. 5L 08YIEIRG
¢ [l /
/ i 172 100
ol 2 P.C.DB62.5 T
3 Is— | — ©
. —
— o —JAYJ% o = ® g &
e —[ ] ©
(1125
T 4-09%4,
86 9L.5

BAi:DINGS B E T
ACA00WFR 5 TSR AL




DRS - Hi{ff 28 Eil4ME R ~f [E/Technical Data & Dimensions

DRS200-130~ Aifi/A Axis Biifi/B Axis
TU5E Model DTN200-10 DTN130-10
Fasin v Max.Torque 120Nm
PR Max.Load Torque 20Kg*
e R Rotation Angle 360° +180°
e Rotation Accuracy <30
ARG Repeatability <10
K TEA% Turning Radius 130mm( A 5E #/Customizable)
VAT Parallelism of rotating table +0.02mm
JEHE ] L Concentricity of rotating table +0.02mm
MR RS Amplitude of Table Rotation +0.005mm
PN Ehd Max.Speed 200r/min
PRt LA Degree of Protection IP40
HELE Motor 750W Sevor Motor/86 Stepper Motor 400W Sevor Motor/57 Stepper Motor

* PR BT RS 2B0H . Max. load torque refer to the tuming radius.
* ARNTIEGAEITGS B3, RIS RRGE, B ASATE, EARRGT IR, SEAA .
* Al specifications, dimensions and design characteristics shown in this catalogue are subject to change without notice.

HME R ST [EIDimensions

Hi{Zmm / All dimensions in mm unless specified.
ST Ry a5 3 (it B 32 V4B ST Please provide motor flange size when ordering.

Mii: DINI3O R P-6

UBERUBRR ACA0OW( RS T L
150
6-M5E 10
| | P,C.D. 104 %
S 260 Ny A Il s
S \#\ — HI ==
BiEIIRAS: i = -
g \ N |
] = ok | ©
1 1—' |
[ s

210

130 165 210

B DINOF R &
ACT5O0WfA AR ER865 it il




DRT - #7281 Bil4ME R~ [E]/Technical Data & Dimensions

DRT200-130-SV/ST-630 Alifi/A Axis Biili/B Axis
A5k Model DTN200-10 DTN130-18
Fasin v Max.Torque 78Nm
fosis Max.Load Torque 35Kg*
e R Rotation Angle +100° 360°
e E AR Rotation Positioning Accuracy <30
EE RN Repeatability <10
K% Turning Radius 255mm( ] & 4 /Customizable)
VAT Parallelism of rotating table +0.015mm
JEHE ] L Concentricity of rotating table +0.01mm
N T Max.Speed 200r/min
PRt LEa Degree of Protection IP40
SR E Motor 750W Sevor Motor/86 Stepper Motor 400W Sevor Motor/57 Stepper Motor

* TR BT RS 280 . Max. load torque refer to the tuming radius.
* AT A BEE,  FRIURZ BRSNS LR, SRR TSR, R AT,

* Al specifications, dimensions and design characteristics shown in this catalogue are subject to change without notice.

HME R ST [EIDimensions

Hi{Zmm / All dimensions in mm unless specified.
ST Ry a5 3 (it B 32 V4B ST Please provide motor flange size when ordering.

B A
630 UEDR R
531 | ACTSOW/RI R L
- ﬁ/ i 863 HFHL s N
[ 1T o 2
o ‘j { “©) f -
3 8 |Is D e g T
— D o
[ o[ Jee[T]l
AC200W/400Wf R Al
H5TH R \
6-914i@ 7L
500 B245TALI
6-M5V8H A P.C.D. 0104
el = o
: fn= TR i
2 o 8 8 © Ol o
: ]4 ° ° f




I5:pinsense’ EH} %@D’ﬂ@%

1558 High Precision
a2 Little Volume
ok Easy to install and operate



72 X RE &2 35 72 E(/Indication of Model Numbers & Technical Data

W i 1 25155 1LH5 Indication of Model Numbers
DR0O60 - 02 - S2 - SV

A s 5% TR LL iy e 75 X frl IR S 5%
Model Ratio Output Type Servo Motor
042 02 S1-Jtiiti/Shaft
060 S2- i il
090 03 Shaft with Key
05 K1-J6 LML IRE &
Howllow Shaft
K2-B gL
Hollow with Key

'W ¥ #722 & Technical Data

JE H #fiiADescription

i Lk /Ratio 2/3/5
A J1%E/Max. Torque Nm 12 48 95
e Kl N 5% /Max. Input speed rpm 2500
[EI 72 H] B /Backlash arcmin <1
Tk /Operating Temp °C -10°C ~ +90°C
744 /Degree of Protection IP 65
2477 3 /Mounting Postion {E7&/Any Direction
{3 fr/Service Life Hr 20000 (32 Y 4 ({5 FH 3 650%)
R /Weight Kg 0.45 1.35 4

¥ RN EVE ST, B9 R ZIAE TR, AR AR, BRI IR, aIBR A AT .

* All specifications, dimensions and design characteristics shown in this catalogue are subject to change without notice.




DR - #ME R~ [E/Dimensions

DR042 4ME R~ & Dimensions

B A7 mm / All dimensions in mm unless specified.
*ETRE ST (E RS2 R~ Please provide motor flange size when ordering.

g12
|i
t\
~ = 4 “5'
P.C.D%5
— 1
.C.D846 — HIT13
- N A
. /e/ .
: 1 = 1 — ';‘} _'_ N
><_ /$/ Asikisg Rk
.53
E: 3%
=03 49 bl
4-93.5 Ei
_ P2y
P.C.D848 -B65IE TS
J —
(o]
% — —
@)
\ T
483,587, — g
P.C.DFI8




DR - #ME R~ [E/Dimensions

DRO060 #ME R~ & Dimensions

B A7 mm / All dimensions in mm unless specified.
*ETRE ST (E RS2 R~ Please provide motor flange size when ordering.

250
16.6
Bl &
< |
S . P.C.DO46 i
4-M4V12

67
W
7
|
I
0 60

(O)}/~P. C.DBT0
~— N\ B 914
|l 11 [ 1
“’ N-MAT
252 B
4-9978
4-M6V'15

4-M6V15

P.C.DAT70~

0 60




DR - #ME R~ [E/Dimensions

DR090 #ME R~ & Dimensions

B f7mm / All dimensions in mm unless specified.
*ETRE ST (E RS 2 R~ Please provide motor flange size when ordering.

270

o 2L5
19002
= o P.C.DBY0
4-)6V 16
O (@)
) ﬁ I:I
O KELEST0
N A ig19
ol 58 \4-M6V 12

0 9%

&

’Q@t’ ‘
P.C.DALOY/ o




Z & F/Mouting Instructions

F—Pe MERRIGIE, TSR A SR S R, O
o5 FE 32 B v 4 e Y- B 1) 2 S TR WL it
Step 1. Confirm the sepecification of the motor and the hollow
rotating table whether they matched or not, then cleane and
dry the connection part of the motor and the hollow rotating

table.

B=00: HALAZACHEI BN, MERSE RS, A
ANTEAALER, IEREE S EHEIL A
Step3. For easy mounting, put the motor vertically with the
shaft pointing upward,then insert the motor shaft into the
gearbox inlet Bushing and align the flange mounting
holes on the gearbox flange.

BD: DR R @R ME 1I5%, T
@%%iﬁ%ﬁ@%%ﬁﬁ@?%%i%%%ﬁ

0.
Step4. Tighten screw in diagonal manner not in circle direction,
or tighten single crew in one time. And with torque

wrench to 5% specified torque.

BB BUR tp e 2 s N UTE s, )
BH BRI BRIR IR AR MEZE ORAL, U Mz
BIFSeR s, W g, GEHT T

Step2. Remove the key and instore the key if necessary;
Remove the cover screw to adjust the position of
clamping screw.

& FSIE R PR, YRR AR b AR, (8
SRR TRIRAR STl ] 7 L

As installing on flatted shaft, be sure to align the collet
gap over the flat and the set collar bolt perpendicular

to the flat.

WA 2R IR, SHAIRTRERREEE,
AT IE TR ]
Step5. Refer to the torque specification form as the following
table,using torque wrench to tighten the lock Bolt (to
noted torque specification) and tighten the rest crews.




ZZFf/Mouting Instructions

BRI I A1 5 8 BORAR L ) R
Tightening Torque Recommended for Motor Mounting Bolt

Vav ik SH[E8 BiRAA < SHEHT) SRAE10.9URA 2 SHEH ) SHEE1 2. O SHEHH )
Eb;’i :2/% R ﬂ‘ Width Across Flats Strength 8.8 Tightening Torque Strength 10.9 Tightening Torque Strength 12.9 Tightening Torque
Bolt Size mm N-m In-bs | N-m In-bs | N-m In-lbs
M3X0.5P 2.5 1.3 12 1.8 16 21 19
M4 X0.7P 3 3 27 4.1 37 4.9 44
M5X0.8P 4 6.1 55 8.2 73 9.8 87
M6 X 1P 5 11 98 14 124 17 151
M8 X 1.25P 6 25 222 34 302 41 364
M10X1.5P 8 49 434 67 594 80 709
M12X1.75P 10 85 753 116 1028 139 1232

R RS e AR TR B R
Notice: You must link the located bolt firmly and then screw up the screw!

BN 8L R ~]/The Dowel Hole Size

BI%R Model D(f%v};H %i(lgem Er)?a. Do%eﬁLliﬂh;{%rgzpth Dov%fh%%éﬁ Qty.
DTNO060 ¢ 51 (H7) 1M1(EH) 2
DTNO085 ¢ 5% (H7) 1M1(EZH) 2
DTN130 ¢ 52 (H7) 14.5(E %) 2
DTN200 ¢ 61 (H7) 15.5(E %) 2
DTN280 ¢ 8% (H7) 29.5(E %) 2

rh 2% Jig i ST 22 22 2 [ 7 Installation Instruction

@) S A )

= Spring Washer(Equipped by User)

Ii5] 7 AR (R P )
Bolt(Equipped by User)

SEf7 4L Dowel Hole

< s LS

I‘DoweI(Equipped by User) ™

ik Me S
Mounting Plate




